18,

691,

200

L
V =
A =




0-000 2

25
05-******.00002-10

o

obhr
oo

-06.02.10(0)

[EEY

04
01
19
01
01
01
04
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0-00

691,

200

691,

200

05 -

* * * * * %

-00002-1

0

03

691

691



0-0004

| K
§ 9,579,796
| 2)
| 6,573,496
| >)
| 5,400,886
| +)
| m3 814,162
| 860 mB3 814,162 06021
( ) 4)
m3 182, 664
( )
50,000m3 |
g§60 m3 182, 664 06021
4)
m.3 4,404,060

05 -

|
* * * * * %

-00002-10



0-0005

3 D R R
DI D 49.5km (22 5km )
| 860 mB3 2.924.860 06021
860 1,479,200
3)
1.172.610
( ) 4)
m2 1.172.610
’ ’ 1.010 m2 1,172,610 06021
2)
2.615,900
3)
2.615,900
4)
‘ m2 2.615,900
[(]11,000m2 |
1.010 mP 2 615,900 06021

05 -

|
* * * * * %

-00002-10



0-0006

2)
390, 400
3)
390, 400
50 279, 050 06 021
6m 0 g
50 64, 400 06 021
6m 0 g
50 31,300 06 021
BT2t 2.9t
46. 5km (41. 0km| )
0.1 t 1,948 06 021
0. 3 1,950
2§2><1524><3048, s8o2kg/r |
‘ 32
4 5,632 06021
18 m2 3,150 06021

05 -

|
* * * * * %

-00002-10



0-0007

18 m2 2,970 06021

9,579, 796

35,648
( 1H 1 1 )
34.1km
12m
1 35,648 06021
131,000

1,078,000

1,244,648

10,824, 444

3,369,000

05-******.00002-10



00008

14,193,444
777777777777777777777777777777777777777777777 2.793,361
77777777777777777777777777777777777777777777777777777 5,195
77777777777777777777777777777777777777777777 2. 798,556
16,992,000
77777777777777777777777777777777777777777777777 1,699,200
18,691,200

05 -

!
* ok ok ok K ok

-00002-10



SPK23040001 0 -0001
1 m3
10. 59% 83. 71% 5. 70% 0. 00% 1,17
( ) ( ) )
( ) ( ) MTPCO0O0O0128
3 10. 59% 21,900 3 20, MOPTO0O0128
0. 8/ 0. 6m3 0. 8/ 0. 6m3
RTPCOO0OO0Q2
73. 93 % 16, 800 22, BR0OPTO000Q?2
( ) RTPCOOO0OQ6®6
9. 78% 19,320 25, ROPTO0OO00Q6G6
TTPCOO0OO013
5. 70% 146 T3IBTOO0013
EPOO1
946. 7 0
A=1 B=2
MTPCO0O0128 = * / ) + * 1.1)
=11,910 |* (690 / 180) + (14,630.0) = 21,900
946. 6933 = 1,176. 7000 |*
([10.590/100*21,900/20,6007]) * [ 10. 590/ 10. 590]
+ ([ 73.930/100*16,800/ 22, 300] + [9.780/100 * 19,320/25,3001]) [ 83| 710/ (73.]19:
+ ([5.700/100*146/138]) * 5. 700/ 5. 700]
+ [100-10.590-83.710-5.70011/7100

05 -

sk xxx_00002-10



0-0010
( ) SPK23040007 0 -0002
50, 000m3 1 m3
44. 49 % 35.67% 19.84% 00 % 22
( ) ) )
( ) ( ) MTPCOO01H3
2014 44.49% 21,600 2014 21| MOUPTO001H3
0.8/ 0.6m3 0.8/ 0.6m3)
( ) RTPC0O0O0(6
35.67% 19,320 25, RUPTO000(6
TTPCOO0O13
19. 84% 146 T3BT00013
EPOO1
212. 4 0
A=1 B=1 50, 000 m3
212.3729 = 229.0500 *
([ 44. 490/ 100*21,600/21,600]) * [44.490/44.490]
+ ([35.670/100*19,320/25,300]) * [35.670/35.670]
+ ([19.840/100*146/138]) * |[19.840/19.840]
+ [100-44.490-35.670-19.840]/100

05 -

sk xxx_00002-10



SPK23040002 0 -0003
( DI D 49.5km (22.5km ) 1 m3
46.25% 38.07% 15. 68 % 0. 00 % 3,409
( ) ( )
[ ] [ ] MTPCO0O0O018-
10t 46.25% 21, 96710t 20, MBPTO000 18"
( ( ) ) ( ( ) )
( RTPCO0O00Q7
38.07% 17,535 21, RUPTOO00(Q7
TTPCO0O0O013
15. 68 % 146 TEBTO00013
EPOO1
3,401 0
A=1 B=1 0. 8m3( 0l 6m3)
c=1 ( ) D=1 DI D
E=51 49.5km (22./5km )
MTPC00018T1 = “ )y o+ * 1.01)
= |1,430|* (830 / |180) + (14,740.0) + 667 21, 9p 7
3,400.2324 = 3,491.5000 *
([46.250/100*21,967/20,667]) * [46.250/46.250]
+ ([38.070/100*17,535/21,100]) * [38.070/38.070]
+ ([15.680/100*146/138]) * |[15.680/15.680]
+ [100-46.250-38.070-/15.680]/100

05-******.00002-10



0-0012
SPK23040025 0 -0004
) ) 1 m2
0.00% 100. 00 % 0.00% 0.00% 1,50
( ) ( ) ( )
RTPC000(d?2
87.65% 16,800 22, BROUPTO000(2
RTPC000d9
12.35% 24,150 26, RUPT000d9
EPOO1
1,161 0
A=2 C=1
D=2 , : E=1 - ( )
1,160.2339 = 1,501.2000 *
+ ([87.650/100*16,800/22,300] + [12.350/100 * 24,150/26,500]) [ 100. 000/ (47.
+ [100-100.000]/100
05-****+x_00002-10




0-0013

SS000277 0 -0005
11, 000m2 m 2
TS295
1. 000 590 2,590
#91
1 0
1 m2 2,590
A=1 [ ]1,000m2 B=1 -
= 2,590*(1+0/21200)*1.00
= 2,590 ( 1

05 -

* * * * * %

-00002-10



0-0014

S082 0O -0006
10
RTPCOO0OO09
. 161 150 3,888
9
RTPCOOO0OO01
. 161 000 3,381
9
RTPCOOO0OO0?2
. 161 800 2,704
9
FOOOOO0O0OO0OO0OO1
1 650 36,500
FOOOOO0O0O0O0O02
1 0 0
- 28 ( ) S9035 0-0007
2.9t 0. 8m3 . 161 690 8,644
#09
% 973 693
1 55,810
5,581
A=1 F ) B=2 m3 )
=1 * 10 / D = 1 * O /| 62 = 0.1 ( 4 3
= 1 * 10 [/ D = 1 * 1 / 62 = 0.161 |( ) 3
= 1 * 10 [/ D = 1 * 1 /| 62 = 0.161 | ) 3
= 10 / D = 1 / 62| = 0.161 ( ) 4 3

05 -

* * * * * %

-00002-10



0-0015

- 28 ( ) S9035 0 -0007
2.9t 0. 8m3
RTPC0O0O0O0G®6
1.00 19, 320 19,320
TTPC0OO0013
119. 00 L 146 17,374
< > ( KTPC0O00O0O0G®6
0. 8m3( 0. 6m3) . 9t 1. 44 11, 800 16, 992
#91
1 4
1 53,690
A=21 _ 0. 8m3 B=119 L/ )
C=1 ) D=1. 44 ( [ )

05_******

-00002-10



0-0016

S0822 0O -0008
6 m 10
RTPCOO0O0O0O09
. 116 24|, 150 2,801
RTPCO0OO0O0O01
. 116 21, 000 2,436
RTPCOO0O0O0O0O?2
. 116 16, 800 1,948
- 28 ( ) S9035 0-0009
2.9t 0. 8m3 . 116 49,100 5,695
#91
0
1 12, 880
1, 288
A=1 B=1 6m
= 1 *~ 10 [/ D = 1 *, 10 /| 86 = 0.116 ( 4
= 1 * 10 [/ D = 1 * 1 / 86 = 0.116 | ) 4 3
= 1 * 10 [/ D = 1 * 1 /| 86 = 0.116 | ) 4 3
= 10 / D = 11 / 6| = 0.116 ( ) 4 3

05 -

* * * * * %

-00002-10



0-0017

- 28 _ ( ) S9035 0 -00009
2.9t 0.8m3
RTPCOO00OG6
1.00 19,320 19,320
TTPCOOO013
94 .00 | 146 13,724
< > ( KTPCOOO0OG6
0.8m3( 0. 6m3) L9t 1.36 11,800 16,048
#91
1 8
1 49,100
A=21 _ 0.8m3 =94 L/ )
c=1 ) D=1.36 ( /)

05_******

-00002-10



0-0018

S0822 0O -0010
6 m 10
RTPCOO0O0O0O09
0. 069 24|, 150 1, 666
RTPCO0OO0O0O01
0. 069 21, 000 1, 4409
- 28 ( ) S9035 0-0011
2.9t 0. 8m3 0. 069 45,580 3,145
#91
1 0
10 6,260
1 626
A=2 B=1 6m
= 1 10 / D = 1 *| 10 [/ 144 = 0.069 ( ) 4 3
= 1 * 10 [/ D = * 10 |/ 144 = 0.069| ( ) 4 3
= 10 [/ D = p0 [/ 144 = 0. 069 () 4 3

05-******.00002-10



0-0019

- 28 _ ( ) S9035 0 -0011
2.9t 0.8m3
RTPCOO00OG6
1.00 19,320 19,320
TTPCOOO013
78.00 | 146 11,388
< > ( KTPCOOO0OG6
0.8m3( 0. 6m3) L9t 1.26 11,800 14,868
#91
1 4
1 45,580
A=21 ~ 0.8m3 PB=78 L/ )
c=1 ) D=1.26 ( /)

05_******

-00002-10



0-0020
SPK23040410 0 -0012
BT2t 2. 9t 46.5km (41.0km ) 1 t
14.21% 82.66% 3.13% 0.00% 23,20
( ) ( ) ( )
MTPCOOL1H4
14.21% 7,730 7, MIPTO0O01H4
2t 2.9t 2t 2.9t
RTPCO0O00(1
41.66% 21,000 25, RUBTO000d1
( ) RTPCO000(6
41.00% 19,320 25, ROUPTO000(6
TTPCO0O0O013
3.13% 146 T3BT00013
EPOO1
19, 480 0
A=1 BT2t 2.0t B=2 DI D
c=27 46.5km | (41.0km )
MTPCOOL154 = N / )+ ( * 1.1)
= 1441 *|(760 / 160) + (5,610.0) = 7,730
19, 474.6914 = 23,201.0000 *
([14.210/100*7,730/[7,190]) * [14.210/14.210]
+ ([41.660/100*21,000/25,700] + [41./000/100 * 19,320/25,300]) * [8R.660/(41.
+ ([3.130/100*146/138]) * [3.130/3.130]
+ [100-14.210-82.660-3.130]/100

05 -

sk xxx_00002-10



0-0021

S10500209 0 -0013
22x1524x3048, 802kaq/ 32 1
( ) K0100065
22x1524x3048,802kg/ 32.000 44 1,408
90
#91
1 0
1 1,408
A=3 22x1524x3048, 80R2kg/ B=1
C=32 ( ) D=1 -

05-******.00002-10



0-0022

S1050041 0 -0014
100 m2
RTPCO000O9
0.152 24| 150 3,670
9
RTPCO00O0O4
0.152 24|, 465 3,718
9
RTPCO000O 2
0.152 16,800 2,553
9
- 28 _ ( ) S9035 0-0015
2.9t _ 0.8m3 0.152 49,210 7,479
9
#009
1 0% 17, 420 80
100 m2 17,500
1 mp2 175
= 1 * 100 /| D = 1 F 100|/ 656 = 0 152 4
= 1 * 100 / D =1 * 100 / 656 = 0.152( ) 3
= 1 * 100 / D/ = 1 * 100 /| 656 = 0.152( ) 4 3
( ) = 10 100 656 = 0.[152( 4

05 -

* * * * * %

-00002-10



0-0023

- 28 _ ( ) S9035 0 -0015
2.9t 0.8m3
RTPCOO00OG6
1.00 19,320 19,320
TTPCOOO013
119.00 L 146 17,374
< > ( KTPCOOO0OG6
0.8m3( 0. 6m3) L9t 1.06 11,800 12,508
#91
1 8
1 49,210
A=109 _ 0.8m3 pB=119 L/ )
c=1 ) D=1.06 ( /)

05_******

-00002-10



0-0024

S105004 3 0 -0016
100 m2
RTPCO000O9
0.143 24| 150 3,453
9
RTPCO00O0O4
0.143 24| 465 3,498
9
RTPCO000O 2
0.143 16, 800 2,402
9
- 28 _ ( ) S9035 0-0015
2.9t _ 0.8m3 0.143 49,210 7,037
9
#009
1 % 16,390 110
100 m2 16,500
1 mp2 165
= 1 * 100 /| D = 1 F 100/ 701 = 0| 143( ) 4 3
= 1 * 100 / D =/ 1 * 100 / 701 = 0.143( ) 4 3
= 1 * 100 / D =1 * 100 /| 701 = 0.143( ) 4 3
( ) = 100 / D =| 100 701 = 0.[143( ) 4 3

05-******.00002-10



0-0025

( , H , ) S1000007 0 -0017
34. 1km 12m 1
S10000009 0-0018
34.1km 1.000 13, 024 13,024
12m 3.2t
+00
13, 024 2163, 002448* 2
: S10000009 0-00109
1.000 9, 600 9,600
1 35, 648
A=34.1 ( km) B=1 12m
c=1 - D=1 -
E=3.2 (t) F=1 -
H=1 - J=1 -
L=1

05 -

* * * * * %

-00002-10



0-0026

S10000009 0O -0018
34. 1km 12m 3.2t
Juoo1l
. 000 070 4,070
t E0001
. 200t 070 13,024
13,024
A=1 B=34. ( km)
c=1 12m D=3. 2 (t)

05 -

* * * * * %

-00002-10



S1000009

0 -0019

0-0027

KROOEOOG

3.200 750 2,400
KROOEOOS9

3.200 750 2,400
KROOEOOS

3.200 750 2,400
KROOEOOY

3.200 750 2,400

1 9,600

X >
o
P o

(t)

05 -

* * * * * %

-00002-10



0-0028

X1000
Y1EO1
9,579,796
Y1EO1O0]
6,573,496
Y1EO010101
5,400,886
Y1E01010101
m3 8114, 162
SPK23040001 8 6 A816BZ?2
m3 8 114A = , B=
Y1IEO010101407 )
m3 182,664
SPK23040007 ) 8 6 A212B41
m3 18P2A= ,B= 50,000m3
Y1E01010102
m3 4,404,060
SPK23040002 8 6 3A401B=1,C=1, D=1, E=51
( m3 2, 924A= . B= 0. 8m3( 0.6m3), C=
), D=DI D L E= 49.5km (27.
#0041 c=1
1,479C=
W0 00 1 8 6 1AZ2020, B=0, C=
1, 47P9A=200, B= , C=
Y1IEO010107
1,172,610
Y1EO0101070 X )
m2 1,172,610
SPK23040025 1,01 1A£B81C=1, D=2, E=1
m2 1, 17p2A= , C= , D= , ,
)
Y1EO10W4
2,615,900

05_******

-00002-10



0-0029

Y1IEO010401
615, 900
Y1LE01040106
m2 615, 900
SS000277 1,01 2A590B=1
[ 1]1,000m2 m2 615A=[ ]1,000m2
Y1EO0115
390,400
Y1E011504
390,400
S0821 5 5A581B=2
279A= F ( ( m3)
S0822 5 1A288B=1
6 m 6 A = . B= 6 m
S0822 5 AB26B=1
6 m 31A= . B= 6 m
SPK23040410 19A480B=2, C=27
BT2t t 1A = BT2 B=DI D . Q=
.5km (41.0Kk
#0041 c=1
13C=
W0 00 1 §A56B800, B=0, C
1A=950, B=
S10500R209 1A488B=1, C=32,
22x1524x3048,802kg/ 5A=22x1524x304 , B= , C=
S1050041 1 175
m2 3,150
S105004 3 1 165
m2 2,970
G00O0O
579,796
Z0004
35,648
S1000007 ( ,H 35A688.1,B=1, C= =3.2,F=1, HY1
34. 1km 3 5A = (km) . B= =- . D=-_, E=
05-******_00002-10
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0-0031

Z0031 | 12,987, 935
5,.1.9.5...... 0.00014
18,691, 200
12,987, 935
...... 5195=12987935*0.0004
G4100
2, 798, 556
G4800
16, 992, 000
20038 | 16,992,000
1,699,.2.0.0 0.1000
...... 16,992, 000
...... 1699200=16992000*0.100
G600O

18,691, 200

05-******.00002-10



0-0032

SP K23 0400 0-0010 0 1 A=1. B=2
m3 1 947
SP K2 3 0 400 0-0070 O P ) A=1. B=1
m3 1 212
50.000m3
SP K23 0400 0-0020 0 3 A=1. B=1,C=1, D=1, E=51
( ) m3 1 3.401
DI D 49.5km (22.5km )
SP K23 0400 0-2050 0 4 A=2. C=1. D=2, E=1
m2 1 1.161
SS0002707 -d005 ’ A=1, B=1
[ ]1,000m2 m2 1 2 590
S0821 |0 -0006 A=1. B=2
10 55. 810
S9035 |0 -00028 ) A=21.B=119, C=1,D=1. 44
2.9t _ 0.8m3 1 53 690
S0822 |0 -0008 A=1. B=1
6m 10 12,880
S9035 |0 -0d0098_ ) A=21.B=94,C=1.D=1. 36
2.9t _ 0.8m3 1 49 100
S0822 |0 -0010 A=2 B=1
6m 10 6. 260
S9035 |0 -0d0128_ ) A=21.B=78,C=1.D=1. 26
2.9t _ 0.8m3 1 45 580
SPK2 30400 41000 1 2 A=1. B=2,C=27
BT 2t Lot t 1 19, 480
46.5km (41. 0km )
05.******-00002-10



0-0033

S1050 0209 013
22x1524%x3048,802kg/ 1
32
S1050 0401 014
m2 100
S9035 0 01838 _ ( ) 06
2.9t 0. 8m3 1
S 1050 0403 016
m2 100
S 1000 0007 017 ( , H , E=3.]2,
34. 1km 1
12m
S 1000 01009 018 .2
34. 1km 1
12m 3.2t
S 1000 01009 019,
1

05_******

-00002-10



0-0034

(0.

9)

6)

(3.

7)

FOOOOOOQOOOO1

m"\

al =

FOOOOOOQOOO0OO0O2

05_******
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0-0035

Wo0001

720

Wo0001

500

05_******
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N
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0-0037

Y1EO1
9, 9579, 792, 953,178

Y1EO01O01

Y1E010101

Y1EO01000101¢1

mg
S P K2 3 0 400-000010 1
m3 8|6 0 8§14, 162 638, 980
Y1EO01000107 ( )
mg
S P K2 3 0 400-000070 2 ( )
m3 8|6 0 182, 664 52,460
50 000m3
Y1EO010010102
mg
S P K2 3 0 400-000020 3
( ) m3 8|6 0 2,924,860 949, 440
DI D 49. 5km (22.5km )
#0041
1 1,479, 200 0
WO 001
8|6 0 1,479,200 0

Y1EO0100107

05-******.00002-10



0-0038

Y1EO0O10107001 ( )
m 4
S P K2 3 0 400- 002050 4
mZ 1, 10 1, 72, 6110, 1171, 600
Y1 EO0O104
Y1 E010401
Y1EO01040106
m 4
SS0002707- 0005
[ ]1 000m2 m2 1, 10 2, 15,900 -
Y1 EO115b6
Y1 EO011504
S0821 0-0006
50 79, 050 65, 400
S0822 0-0008
6 m 50 64, 400 47,100
S0822 0-0010
6 m 50 31,300 22,200
S P K2 3 0 400-401001 2
BT2t 2.9t t 0.1 1,948 1,516
46.5km (41. 0km

05 -

*xkxx%x.00002-10




0-0039

0041
1 13, 702 4, 482
W0 00 1
0. 1,950 0
S10500209- 0013
22x1524%x3048 802kg/ 4 5,632 0
32
S10500401- 0014
m 2 18 3,150 2,304
S10500403- 0016
m 2 18 2,970 2,178
70004
35,648 0
S10000007- 0017 ( H
34. 1km 1 35,648 0
12m

05-******-.00002-10




